Answers are displayed below to check your work.  Make sure to show all of your work to receive credit.

1) 2 Al + 3 CuSO4  Al2(SO4)3 + 3 Cu

If 1.85 g of Al react and 3.70 g of Cu are obtained, what is the percent yield of Cu?


2) PCl3 + Cl2  PCl5

The percent yield for this reaction is 83.2%.  What mass of PCl5 is expected from the reaction of 73.7 g of PCl3 with excess Cl2?


3) SiO (
1) 56.6%
 
2) 93.2 g PCl
5
3) 83.6%
4) 9.84 g 
Sb
)2 reacts with carbon (C) to form SiC and CO.  If 50.0 g of SiO2 are reacted and 27.9 g of SiC is formed, what is the percent yield of the reaction?



4) Sb2S3 + Fe  Sb + FeS

The percent yield for this reaction is 91.5%.  How many g of  Sb will be produced if 15.0 g of Sb2S3 reacts with excess Fe?
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